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' B. A/B.Sc. Il Year Examination, 2015 (Unified Syllabus)
Mathematics-V Differential Equations and Integral Transforms
Time : 3 Hrs.] ) (AB-227) [M.M. : 33/65
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1. (a) & DT : Solve : '
(* =39?)de=(y’ -’ y)dy
(b) BT BT : Solve :
2 (), _
coSs x(;)+ y=tan x
(c) &I DIt : Solve : . ,
(y+-§y’ +—;x2]dx+5|(k+xy2)dy=0

(@d) TREDHIVIT TBar I GRS Eﬁ%IL"I Define orihogonal trajectories.
(e) & HIfole : Solve : (D +8) y=x*+2¢+1 :

2
Q)] gﬁﬁ%ﬂ=80]ve:%+4y=xsinx
-2 Al (G
r-2) , . 2 g y)
yz Zx XV
S s Solves 0202 |
(h) & : Solve : :2—-5-2-—):-}:

ox

(g) &t DITSTE : Solve :

(i) g DI : Evaluate :
[ERA L
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What is the relation between Fourier and Laplace Transforms ? . Q|us-d.49,%,3
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2. (a) B DI :Solve: (1+ y*)dr=(tan™" y-x)dy. |
(b) BT DI :Solve: " _
x(g)+ y=y*logx | ' b 3rerEr
dx

-

‘dy tany
3. &¢7 dHfoTe : Solve : — —
® N e T ) |
(b) BADIGE:Solve : Bx?y* +20)de + (2°y’ —-x?)dy=0 WO
. (a) [ & vaet auT AUD BT S @If3Te : Find the general and singular solutions of the
. yZ _2pw+p2 (x2_1)=m2 |
(b) EADIAC:Solve: (D* +4D+4)y=e* @

=(l+x)e" sec y
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dx =id_)_i - dz

Yy o oz- am
WWWWWE&%@ : Find the complete integral of : p = (qy + z)’
e Sifse s - Prove that : x./! (x)=n.J, (x)-x.J,,, (*¥) |
ﬁ‘l@’ DI S5 : Show that : : :

r —2(.; +z)2 E ="=Z‘.)(2n+ NP, (x)z".
e SIfSTe : Solvei: P+r+s=1
HsT fafer gRT &7 HISTE : Solve by Monge's methiod : 25 + (¢t — 52 ) =1
L{F (¢t)}¥d ®ifole afd : Find L { F (1)}, if

y <
| F)= e, 0< '
. 0, o =)
%3 a%h%re’% : Prove that :
—-ap .
LY {_pe__} =cos hw (t —a),
pz 2
H(t-a),a>0
= @ WIT?R STd DIfSIT : Find the sine transform of the
+ e—ll\
° eTL\' __e—TL\'

&eT BIfoTe @ Solve : F'(l‘)=l+IF(t—u)cosudu;F(O) 4
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